a-o’lda

t,2
T

tbar{t}} [p b/ G eVZ]

cdot m
S

d* {p

Ratio to ATLAS

-
<
I

| —
o
&

1077

[EEY

0.5

1SQOO va PP

] | | | ' | I 4«
i op 18
pT (ATLAS ttbar) >

| =
—  m  ATLAS B
— —A— Pythia 6.428 370 mi
~ A Pythia 6.428 373 1=
| --0-- Pythia 6.428 374 s
Pythia 6.428 375 3]

. >

— ———k——.Pythla 6.428 381 —

— - v- Pythia87428'382 -

B iy
o™
<
o™

- —©

— —4 0O

— 1M

- 1 <

B 1=

- 1%
S,

— i
(&)
<

— g9

— i

L —

- mEe

— 1 &

| )

| . . . . | . . || E

:| T T T T | T T |:

- -2
1

| —0.5

| 1 1 1 1 | 1 1 |
0 500 1000



	Contents
	Page 1


